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A 35.0 0316 | 84 | 1965 | 1755 | 2586 | 23.10 0.48 0.36
B 35.0 0316 | 105 | 2079 | 17.82 | 2736 | 2345 0.59 0.45
6.9 1053 | 1021 | 1255 | 1217 0.68 057
c 263 0.192
72 1224 | 1197 | 1459 | 1427 0.60 050
D 336 0232 | 896 | 1132 | 1096 | 1395 | 1350 0.82 0.66
E 16.0 0325 | 114 | 148 1.35 1.96 1.79 0.84 0.64
F 25.0 0342 | 145 | 7.34 6.64 9.85 8.91 0.22 0.16
G 60.0 029 | 110 16.19 20.98 0.68 052
H 66.2 0263 | 879 1551 19.59 057 045
, 0133 | 444 10.36 0.49 043 |V=45km/h
0283 | 574 9.14 11.73 0.63 049 [v=205km/h
0334 | 445 12.19 0.49 036 |Vv=260km/h
I 44.65+44.65
i 0133 | 444 9,61 0.52 046 |Vv=4skm/h
0283 | 574 8.48 10.88 0.68 053  [V=205km/h
0334 | 445 11.31 0.52 039 [v=260km/h
, 0121 | 343 8.44 0.46 041 |v=25km/h
0295 | 5.16 753 9.75 0.69 053 [v=205km/h
5 30.2+38.0 0324 | 398 9.97 0.53 040 |v=235km/h
) +38,0+30.2 0121 | 343 717 0.54 048 |V=25km/h
0295 | 5.6 6.40 8.29 0.81 062 |V=205km/h
0324 | 398 8.47 0.62 047 |v=235km/h
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